- (1)

- (D)

rT+y=
r—y=-—1
(i)
r+2y=>5
r—2y=-3
(iii)
rT+y=-3
—r4+y=-1
(iv)

20 +3y =5
r—3y="7
(v)
dr+y=1
—4$+2y:—%
r+y=3
3r—2y =—1
(i)

2 +y=1
—x+ 3y =10
(iii)

dor +y =11
3r—2y =11
(iv)
—r+3y=19
2v+y =11
(v)
Tx+y=75
3r — 3y =-9
2z + 3y = 18
dr+y=13

(ii)
3z +2w =24

Simultaneous Equations



4z + 3w = 33
(iii)

- (1)

2s — 3t =12
5s — 2t =19
(iv)
Tr—2y=3
20 +3y =8
(v)

5r — 3y =8
204+ Ty =77
rTH+y=2
T=Y

(i)
y+oH==x
r+2y =11
(iii)

Y+ =38
20 —y = —5
(iv)
4d=x+y+2

x=2y+2x—14

(v)
T=x
20—x =7

- (D)

(i)

Page 2



3a B 4
7T
—a=p-3
v, 03T
7+4 28
o Ty 5
2"ty

Page 3



